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Questions

Complete the sentence by choosing the best option. /pair of connectives. The people
screamed ran in different directions when the lorry crashed into the roadside stall.

Complete the sentence by choosing the best option. /pair of connectives. James usually has
his lunch at this restaurant sometimes he eats elsewhere.

The meaning of the stem traditis:

Which one of the following cannot be used for the suffix -ure?

Fill in the blank with the most suitable phrasal verb.The band are bringing..... a new albumin
the new year

Choose the correct option.The tensions of the modern world produced a troubled
society

Fill in the blank with appropriate word given below."l like James. He is quick on
the.......... You only have to tell that guy how to do something once. He understands the
importance of something and how it works very quickly," Jack said to his assistant.

Fill the gap by choosing the best answer. Thai cuisine is one of the most romantic of the
Asian cuisines as it still ......... an element of mystery and exoticism

Fill in the blank with appropriate phrasal verb. Animals and humans use the evaporation of

water to ......... heat that is absorbed from the sun or generated by metabolic activity and
exercise
Fill in the gap by choosing the best answer. Indonesia has an ......... range of Japanese

restaurants as Japan has long been the biggest investor in the country

Answers Choice

A. either
if

and
but

if
either
neither
but

Oom» DO®

chance

. hand over, deliver
stand, place

fall

lect
fiss
depart
polit

Com» Dom>

over
down
out

up

have
had been
has

had

DowW>r DOm»

intake
uptake

. second take
take

o>

regains
. refrains
retains

remains

carry away
carry out
carry off
. carry through

ecstatic
ecliptic
eclectic
eccentric

DOW> DOWr TOWR



